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(1) BUKHEER
BT Ek (&R FEEEE S (m3/8) M EALE (%)2
R KR 0 0
X KR FA (FHSFEEREFR) 0 0 0
MELBZ (11 FEERE) 0 0 0
MEL B (S 27FERE) 0 0 0
(2) BKIEER (BEKE)
ERER (m) it AL IE4E
=S m'fﬁ:% MEEEE 3 MEEE |HEEE
ER LLst (%) (%)
(MEER
XH & BAKE (FHSEERE L) 0 2,676 0 2,676 0 100
=L BZ(RF11EERE) 0 2,676 0 2,676 0 100
XEH12EEICHELET RA
=L BE(RF27 F£EXRE) 2,584 0 0 2,584 100 100
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(3) KRR

21 AT 50 (B FT) IEEREES (m3/8) =L 3 (%)*
R EFIKIERE 1 50,000
i B 5 SR E S F A (RS FEREFR) 0.5 25,000 50
MELBER (G 1EEREZ) 0.5 25,000 50
MELBR(TH27FEERZ) 0.5 25,000 50
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ERRIER (m) =L IEE
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ML HEKE (HFHSEERE L) 212 0 27,124 27,337 1 1
MELBZ(SH11EERE) 212 0 27,124 27,337 1 1
=L B2 (§H27FEEXRE) 22,363 0 0 22,363 100 100
(5) BE/KHEER (BoKith (BEKIBET) RUEKM)
BT ¥k (&R BNEE (M) =L (%)*
X R LK 6 6,920
it 5= % SR E e A (R FNSF EREF ) 1 1,000 14
=it B4R (S F1 1 EERZ) 1 1,000 14
=it B R (S 27 EERz) 1 1,000 14
(6) R TR (BRK., 8K, EKRUE KR TR
E Rk (&) MEEXEES (m3/8) =L (%)°
MR ER TR 1 55,000
i Xt SRR FA (FHSFEEREFR) 0 0 0
MELBEZE(EMI1EEREZ) 0 0 0
MELBE(RH27EERZ) 0 0 0
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